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1/q momentum from T2_T4 [GeV/c]
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momCorr
Nent = 3350   
Mean x = -3.358
Mean y = -3.314
RMS x  = 0.9988
RMS y  = 0.9537

run #5685
momCorr
Nent = 3350   
Mean x = -3.358
Mean y = -3.314
RMS x  = 0.9988
RMS y  = 0.9537
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1/q momentum from T2_T4 [GeV/c]
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momCorr
Nent = 35404  
Mean x = -5.645
Mean y = -5.642
RMS x  =  1.719
RMS y  =  1.646

run #5931
momCorr
Nent = 35404  
Mean x = -5.645
Mean y = -5.642
RMS x  =  1.719
RMS y  =  1.646
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DxT2T3
Nent = 3969   
Mean  = 0.07475
RMS   =  2.707
Chi2 / ndf = 56.88 / 22

 5.297 ±Const    = 223.6 
 0.005951 ±Mean     = 0.156 

 0.005978 ±Sigma    = -0.3016 

run #5685, 4 deg.

DxT2T3
Nent = 3969   
Mean  = 0.07475
RMS   =  2.707
Chi2 / ndf = 56.88 / 22

 5.297 ±Const    = 223.6 
 0.005951 ±Mean     = 0.156 

 0.005978 ±Sigma    = -0.3016 
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DyT2T3
Nent = 3969   
Mean  = -0.3354
RMS   =  2.762
Chi2 / ndf = 45.09 / 34

 3.175 ±Const    = 137.5 
 0.01115 ±Mean     = -0.305 

 0.01106 ±Sigma    = -0.5106 

DyT2T3
Nent = 3969   
Mean  = -0.3354
RMS   =  2.762
Chi2 / ndf = 45.09 / 34

 3.175 ±Const    = 137.5 
 0.01115 ±Mean     = -0.305 

 0.01106 ±Sigma    = -0.5106 
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DaxT2T3
Nent = 3969   
Mean  = -0.000253
RMS   = 0.00576
Chi2 / ndf = 21.12 / 13

 8.161 ±Const    = 355.3 
 3.764e-05 ±Mean     = -0.0001799 

 3.649e-05 ±Sigma    = 0.001936 

DaxT2T3
Nent = 3969   
Mean  = -0.000253
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 0.01717 ±Sigma    = 1.576 

run #5931, 4 deg.
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 0.003083 ±Sigma    = 0.3096 

run #5931, 4 deg.
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 2.217e-05 ±Sigma    = 0.00201 

DaxT2T1
Nent = 87635  
Mean  = -0.0005501
RMS   = 0.03399
Chi2 / ndf = 67.24 / 11

 19.46 ±Const    =  1831 
 1.895e-05 ±Mean     = -7.441e-05 

 2.217e-05 ±Sigma    = 0.00201 

day [cm]
-0.04 -0.02 0 0.02 0.04

co
u

n
ts

0

500

1000

1500

2000

2500

DayT2T1
Nent = 87635  
Mean  = -0.001002
RMS   = 0.01566
Chi2 / ndf = 117.5 / 11

 22.27 ±Const    =  2538 
 2.151e-05 ±Mean     = -0.001696 
 3.108e-05 ±Sigma    = 0.002488 

DayT2T1
Nent = 87635  
Mean  = -0.001002
RMS   = 0.01566
Chi2 / ndf = 117.5 / 11

 22.27 ±Const    =  2538 
 2.151e-05 ±Mean     = -0.001696 
 3.108e-05 ±Sigma    = 0.002488 

~2hm�su�qK@�Ý7� &2 !�G�	���������?
/���?���c��� �� !�F�A�;= $;&)(�3K
/�76 &�J ���9
��98A=��#���K�� !� � � =����C�����7L�=�

��1 6A�	L�M � �?D!�F�?���!�
 !��=�����L���
���=�=� !�
�)= ��*-=C�?�����%6!� 	4�?
/���?��� 6!�?=C�������7DA���?���:���!�
���#���\�� !��=C�%���9
��98A= �� 7
/�2��
/���9 �?� �?� �1� �B
/��6 �4*0=��?�����
$;=��	� 
��?=������ �4�E3EM

� �\]�� � ´¯XY»
�¥@CFKI6@Ce�Ütg?xWFHd�@�lCg�k�@ª</e7k�r�qthje��iyz@�xsgsu7q�qt@Lyb</qK�4I�</e�k\Itu��s�s@CItFHhmgse�IC�



dx [cm]

-20 -15 -10 -5 0 5 10 15

co
u

n
ts

0

20

40

60

80

100

120

140

160

180

DxT2T1
Nent = 4461   
Mean  = 0.9807
RMS   =  5.213
Chi2 / ndf = 17.69 / 20

 4.869 ±Const    = 177.6 
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